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1. For each statement below, determine whether the given statement is TRUE (i.e. always
true) or FALSE (i.e. not always true). Provide a short justification for your response.

[2 marks] (a) Let @ and ¥ be vectors in R3. Then ¥ € span(i — ¥, @).
f e LN, g8
T = e te

[2 marks] (b) Let @ and ¥ in R? be solutions to the system of linear equations
r—3y = -2
z+y = 2

If w0 is a linear combination of @ and ¥, then  is also a solution of the system.

P §b\u\/\ ;
“3
[\ '2;} i " :]
ovx"uj sttt 1% f\]] \
053 o silidws, 201150

} _,:C;:_{_ - le 3 QLM Ceoubo "\‘/h\\)

<)

YWt DR st oluton fo Fh Jy),




MATH 1600B. Linear Algebra Page 2 of 2 Quiz_D,- 20 minutes

, 1 =38 7
[3marks] 2. Compute the rank of the matrix A = [O 4 —5} :
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[Bmarks] 3. letp=| -4 |, 7= 01,4= 0 |, and ¥ = 2 |. Determine whether
1 -1 -1 2

the lines ¥ = p'+ 7 and & = ¢+ sv intersect and, if so, find the point of intersection.

Need ”"?e&‘ﬁﬂ—_;ﬁs@ - ?‘a: g—\?*(ﬁ

= [ ] =< (] ]
peidlie = e - }
S AT E A B Py




